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GROUP I MAIN - 2023 

 

LCM & HCF ASSIGNMENT 
 

 
1. (a) Find the HCF and the LCM of the numbers 154, 198 and 286  

154> 198 kw;Wk; 286 Mfpa vz;fspd; kP.ngh.t. kw;Wk; kP.ngh.k fhz;f.  
 
(b) The ratio of two numbers is 5 : 6 and their LCM is 480, then their HCF 
is  
,U vz;fspd; tpfpjk; 5 : 6 kw;Wk; mtw;wpd; kP.rp.k (LCM) 480 vdpy; 
mt;ntz;fspd; kP.ng.t (HCF) vd;d?  
 

2. (a) Find the LCM of (x +4)2 (x – 3)3, (x – 1) (x + 4) (x – 3)2  
(x +4)2 (x – 3)3, (x – 1) (x + 4) (x – 3)2 d; kP.ngh.k fhz;f.  
 
(b) Find the other polynomial q(x), given that LCM and GCD and other 
polynomial p(x) respectively (4x + 5)3 (3x – 7)3, (4x + 5) (3x – 7)2, (4x + 5)3 
(3x – 7)2  
(4x + 5)3 (3x – 7)3, (4x + 5) (3x – 7)2, (4x + 5)3 (3x – 7)2  vd;gd KiwNa 
kP.rp.k> kP.ngh.t kw;Wk; p (x) vdpy; q(x) I fhz;f.  
  

3. (a) Find the largest number of four digits exactly divisible by 12, 15, 18 
and 27  
12> 15> 18 kw;Wk; 27 vz;fshy;> tFf;fg;gLk; kpfg;nghpa ehd;F ,yf;f 
vz;izf; fhz;f.  
(b) The greatest number of four digits which is divisible by 15, 25, 40 and 
75  
15> 25> 40 kw;Wk; 75 vz;fshy; tFf;fg;gLk; kpfg;nghpa ehd;F ,yf;f 
vz;izf; fhz;f.  
 

4. (a) Find the greatest number that will divide 43, 91 and 183 so as to leave 
the same remainder  
43> 91 kw;Wk; 183 I tFf;Fk; nghOJ xNu kPjpia nfhLf;Fk; kpfg;nghpa 
vz;izf; fhz;f.  
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(b) The greatest number which on dividing 1657 and 2037 leaves 
remainders 6 and 5 respectively, is  
1657 kw;Wk; 2037 Mfpatw;iw tFf;Fk; nghOJ kPjp KiwNa 6 kw;Wk; 5 
fpilf;fpwJ vdpy; tFf;f $ba kpfg; nghpa vz;izf; fhz;f.  
 

5. (a) Traffic lights at three different junctions change simultaneously at 
morning 8.00 AM. The first light changes once in 30 sec, the second one in 
72 sec, the third one in 45 sec. After 8.00 AM. which is the next time they 
change simultaneously?  
Kt;NtW rhiy re;jpg;Gfspy; cs;s rhiy ghJfhg;G tpsf;Ffs; fhiy 
8.00 kzpf;F xNu Neuj;jpy; khw;wkilfpd;wd. %d;Wk; KiwNa 30 
tpdbf;F xUjuk;> 75 tpdhbf;F xUjuk;> 45 tpdhbf;F xUjuk; 
khWfpd;wd. 8.00 AM gpd;G kPz;Lk; ,k;%d;Wk; vg;nghOJ xNu rkaj;jpy; 
khWk;?  
(b) The sum of 2 numbers is 248 and their HCF is 31 What is the number 
of such pairs of numbers satisfying the above condition?  
,uz;L vz;fspd; $l;Lj; njhif 248 NkYk; mtw;wpd; kP.ngh.t 31. ,e;j 
epge;jidia G+h;j;jp nra;af;$ba N[hbfspd; vz;zpf;if vj;jid?  
 

6. The LCM of two numbers is 6 times their HCF. If the HCF is 12 and the 
one of the number is 36, then find the other number.  
,U vz;fspd; kP.rp.k-thdJ kP.ngh.t. tpd; MW klq;fpw;F rkk;. NkYk; 
kP.ngh.t 12 kw;Wk; xU vz; 36 vdpy; kw;nwhU vz;izf; fhz;f.  
 

7. Find LCM and HCF of 
9 12 18

, ,
10 25 35

and  
21

40
 

 
9 12 18

, ,
10 25 35

 kw;Wk; 
21

40
 d; kP.ngh.t. kw;Wk; kP.rp.k fhz;f.  

 
8. Find the GCD of the polynomials x4 + 3x3 – x – 3 and x3 + x2 – 5x + 3 

x4 + 3x3 – x – 3 kw;Wk; x3 + x2 – 5x + 3 vDk; gy;YWg;Gf; Nfhitfspd; 
kP.ngh.t fhz;f.  
 

9. Find the GCD of 3x3 + 3x2 + 3x +3, 6x3 + 12x2 + 6x + 12 
 3x3 + 3x2 + 3x + 3 kw;Wk; 6x3 + 12x2 + 6x + 12 vDk; gy;YWg;Gf; 
Nfhitfspd; kP.ngh.t. fhz;f.  
 

10. The sum of three prime number is 84. If one of them exceeds another by 
24 then what is the largest prime number?  
%d;W gfh vz;fspd; $Ljy; 84 xU vz;iz ePf;Fk; nghOJ kw;w ,U 
vz;fspd; $Ljy; 24 vdpy; nghpa vz;izf; fhz;f.  
 

 


